miw

Kerro desimaalit kymmenelld negatiivisella
potenssilla

9026, 8 x 0.01 =

3414,8 x 0.001 =

3768,2 x0.0001 =

Paivimaara: Pisteet:

6201,2 x 0.01 =

7208,5 x 0.001 =

6192,5x0.01 =

1658,7 % 0.1 =

2550,6 x 0.01 =

3752,7 % 0.0001 =

1780, 5 % 0.0001 =

9096,3 x 0.1 =

3912,8 x0.1 =

3405, 6 x 0.0001 =

4936,4 < 0.001 =

1159, 2 % 0.0001 =

5713,9x0.01 =

1736, 1 x 0.01 =

4075 %< 0.01 =

9694, 9 x 0.001 =

8709,5 % 0.01 =
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miw

Kerro desimaalit kymmenelld negatiivisella
potenssilla

9026, 8 x 0.01 = 90.268

3414,8 x 0.001 = 3.4148

3768, 2 x 0.0001 = 0.37682

1658,7 x 0.1 = 165.87

2550,6 % 0.01 = 25.506

3752,7 % 0.0001 = 0.37527

3405, 6 x 0.0001 = 0.34056

1159,2 x0.0001 = 0.11592

1736,1 x 0.01 = 17.361

4075 x 0.01 = 40.75

Paivamaara: Pisteet:

6201,2 x 0.01 = 62.012

7208,5 x 0.001 = 7.2085

6192,5x0.01 =61.925

1780,5 x 0.0001 = 0.17805

9096, 3 x 0.1 =909.63

3912,8 x 0.1 =391.28

4936,4 x 0.001 = 4.9364

5713,9x0.01 =57.139

9694,9 x 0.001 = 9.6949

8709,5 % 0.01 = 87.095
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